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B.A./B.SC. (General) 2nd Semester

1046

FASHION DESIGNING (In all Mediums)

Paper: Fabric Study and Design Concept

Time Allowed: Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all. Question No. 1 is compulsory.
Attempt one question from each Unit. All questions carry equal
marks.

1. State true or false for the following statements:

(a) Wool is natural filament fiber.

(b) Cotton is a cellulosic fiber.

(c) Synthetic fibers are thermolastic in nature.

(d) Cord is a type of novelty yam.

(e) Interlacing of yarn is called weaving.

(f) Horizontal lines are not suitable for tall and stout figure.

(g) Hue. value and intensity are the three dimensions of texture.

(h) Vertical lines in dresses are suitable for short and stout figure
type. 8x1=8

UNIT-I

2. Explain the fiber to fabric processing of cotton fiber and write its

properties. 8

3. Explain the manufacturing, processing and properties of polyester
fiber. 8
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UNIT-II

4. Explain the methods of yarn construction. 8

5. Classify weaves and explain the simple weaves with suitable
illustrations. 8

UNIT-I1I

6. Enlist the various elements of design and explain colour wheel and
colour schemes with suitable illustration. 8

7. What are various principles of design ? Explain balance and
proportion with suitable illustratioas. 8

UNIT-TV

8 . Explain the factors to be considered while designing apparel for tall
and stout figure type. 8

9. How will you apply elements and principles of design in the apparel
of short and thin figure type? 8

Note : Attempt five questions in all. Question No. 1 is compulsory.
Attempt one question from each Unit. All questions carry equal
marks.

i.
(a) 3^T WffcftT cfg ^TT t \)

(c)
(d) M ^H EJFT ^t f^FT t \) EPT ̂  alcnĵ T ̂  «pTcft ^sgcT 1 1

(f) "flH'Srf ^W?, cF% 3Tk cT'Tt STT^TT

(g) ^ ^^ ̂  ^tslclT 1̂̂ ? % vfl̂ T 3MFT t I

(h) "̂ "It ^f w^\r fer% ̂ fT ctrl" sn f̂nr ^ f^ ̂ gw 1 1
8x1=8
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2.

3.

4. SJTHT «p[j% '̂ t f^f^ft ^

6.

7.

clrat TT-W ̂  t^T

8
8

8

¥t
8

)̂

8

8

8.

9, -BTPT f^]% 3|R

gF^t "̂ T

3IFFR

8
lT

8

Note : Attempt five questions in all. Question No. 1 is compulsory.
Attempt one question from each Unit. All questions cany equal
marks.

1 . 3T?H W HUt oTOV" tT" ?^S?> oft :

(a)

(b)

(c)
T tliF cf I

0185/B1K-362 [Turn over



(d)
(e)
(f)

(g) U3T, H?5 »f̂ " Hlydd'1 -yi'^d ̂  13?)"

(h)
8x1-8

2. H3t ^3" % ̂ U^ % TWtre 5S5t ̂  ̂ t f̂ nFftp^T oft »f§ fen

oft I 8

3. T-l'iMH^ %H ̂ t fOTH11̂  ̂ f̂ 1" ̂  fe^Wd1 '̂ tft f%»PlV»f

oft- 1 8

4.
5. y&dlttF ̂  ^BHftof̂ T oTt »f̂  §l)Wo(ci

6. fed'ylt1! E t%fM?> 3 "̂ ̂
HofW '̂ t §WoT3' f^S^ FTW f¥>>ffy»f oft | 8

7. feftTSfo? % fe^S fiWH1 oft US ? Hd66(S ̂  »i7JllT3' ^
oftl 8

8. W > H " Bof ^3- »po{Tg-

of I 8

9.

fof^ oft^i ? 8
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